 ALGEBRA 2 , NAME @li

Chapter 10 sections 1 and 2 Review

, ( FORMULAS:
| t(n) =1st term+change(n—1) : Sum=S(n)=(1lst+ last)g

Sum=S(n) = Ist termechange” —1st term
change—1
*change = common difference or common ratio (multiplier)

t(n) =1st termechange™

~ Section 1. Multiple Choice

A 1) What is the 20t term in the arithmetic sequence for which 1s ferm=5 and change = 4 ? |

2) = 5'+4 (104
A) 81 B) 85 C) 96 D) 105 f;o)zs,,%f,) %

' “ | 5¢76 = §
C 2) The number 54 is what term in the arithmetic sequence —-12, -9, -6, -3, . .. ? * l
,, : b‘ S4=—12+3(n1)
A) 251 B) 24t C) 23d D) 22nd "7 _
D ae s ez 3(n)
o) 3) What are the ' missing terms in the arithmetic sequence 6, 14,22 307 22 = n ,;

(23= 1) Change!

A) 12, 24 ' - B) 14, 22 C) 12, 18 D) 18,18 30-4, ;;1 -8
EXTH
{ b 4) What is Sum for the arithmetic series in which 1st term = (4 c)hange 3, and last term =617
| Gl=4+3(n~ Sum= (4461 Yio)
2(n=~ N :
A) 20 - B) 1280 C) 64 sll-n‘ " (D) ))650 o

% 5) What is the 15t term of the arithmetic series in which n—6 last term =44, and the Sum=1747

44) (3)
A) 58 B) 58 C) -14 oyre ert

: : 58 = a4+ utt
A 6) What is the change for the geometric sequence 4, 12, 36, 108, ... ? I = e

OF B)% | C) 8 D)é

D 7) What is the 6 term in the geometric sequence in which lst term =3 and change = -2 ’?

@ 96 t((") 3(”7-)

A) -7 B) 48 C) 96
) | ) , ) £e)= 3(-2)°
3(~32) ="76
A 8) What is Sum for the geometric series in which 1st term =-16, second term =8,andn=5? |
: | | o+ _ 4+
! (AD-11 B 11 C) 44 D) -10 \
N r=- Z

S(s5)- -/co(’m)s - (1)

-3
z

5(5) ="




Section 2. Show your work. \
. Find the nth term of each arithmetic sequence:

9) 1stterm =3, change=7,n=8 10) 1stterm = 8, change =-5, n = 12 .
t(8)=3+7(8-1) £(12) = ¢ -5(12- )

A
e

(‘__,Ff(_if) .5.2 ™ t(iy= g-ss

e e

\ é(ll) = "’47\

11) Find the 23™ term in the arithmetic sequence 2, 5, 8, 11, e

t(n)=2+3(n-)
$(23) = 24 3(23 -1)

t@ 3 "6@ T3 M 5

12) Find the mlssmg terms of the arlthmetlc sequence -& ’3 , }2

-3 29 -
_/i__:%.)_- - '%"— = 5 - C.L.n-.ag_»

13) Find Sum for the arlthmetlc sequence 15t term = 5, last term = 104, n = 34

5’(3")—@‘-#/04)(7) = /09-17 @

14) Find the sum: Z(Z(n -1-2)

n=1

t(p); -2 (-2 +:o)(:z',')

tm=10 8% r-@
R

- 128 ;n -zo'{%
15) Find the next 3 terms of the geometric sequence: 2, -8, 3Z

»

2=

16) Find the n'" term of the geométric sequence: 1t term = 7,change=-5n=6
n-
tn) =7 (-5)
He)=1¢s)”

- e

\"\' 218 ‘Ié'
- 17) Find the 12t term of the following geometric sequence: %

L) = '5:3,'(”3)“ B N
thz) = L () Q\ 5" 0“’"

1,3, ... (



(

18) Find Sum for the geometric series: 1%t term = 4,change=-3,n= 5

"=l
O IC) s5) = )
,,'i‘f
3(5)~ 4244\,
F f th ) ' >
19) Find the sum of the geometric series: 5(-4)"
) 9 259 8(5)=5(4)"-
£1)= 8 -2
t(5) =7/280 B(5)i=/025 )
S __«//,
20) Find the sum, if possible, of the infinite geometric series 972+324+108+. ..
24 L a
v 972 3 \ ~9’ l— ¢
(S=1458 -3

21) Given a bouncing ba" that travels 8 meters up on the first throw and bounces 80% of the previous

Yeight after each bounce.
a. Find the total he%aﬁer 12 bounces

£03)= k(08)™ 502)“"’[‘” = 74,5024 mecs

aa—/

b. Find the total distance if the ball were to bounce an infinite number of times.

/ O
/é . SL% iy i 80 peders

| - 0.8




